Run 5695 quartetwise, posHO: Beam DIN Run 5695 quartetwise, negHO: Beam DIN
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Run 5695 quartetwise, asymOsub: BeammON =meweee Histogram Vars
o= o  ON Positive Hel (ON): 0.085803 +/- 0.001148
E | serorr | | Negative Hel (ON): 0.086424 +/- 0.001152
000 —— Positive Hel (OFF): 0.093403 +/- 0.004970
- | Negative Hel (OFF): 0.094131 +/- 0.005003
5000 — || e Sums and Diffs
- On Diff: -0.000621 +/- 0.000533
4000 = Off Diff: -0.000729 +/- 0.001226
2000 - On Sum: 0.172226 +/- 0.002237
— Off Sum: 0.187534 +/- 0.009897
so00 =l m— Asymmetries
- On Asym: 40.584646 +/- 44.001339 (ppt)
1000 — Off Asym: 47.600602 +/- 86.104255 (ppt)
- L Bkgd Subtraction
B B T = T A BkSub Sum: -0.015308 +/- 0.010147

BkSub Asym: -7.015956 +/- 96.695711 (ppt)



asym (Acch) / ppt

Run 5695 quartetwise, posHO vs time
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Run 5695 quartetwise, asym0Osub vs time
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Run 5695 quartetwise, negH0 vs time
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Run 5695 quartetwise, bcm vs time
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